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Ideals for irreducible component#ﬂ)f Xpar

I =(w®® —u® 4 fu—1)

* 1 irreducible components of dim¢ = 0, with total 29 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI¥=(u*—u®®+..-4+u—1)

(i) Arc colorings

w=(3)

0
a? = u
1
ag = _u2
—u
as = \ud+u
u? +1
ag = \ —y* — 2¢2
—u? — 2u
a5 = ud 4+ u
—ub —3ut — 242 +1
aig = U6 + 2u4 + u2
w? + 4u” + 5ud — 3u
g = \ —y% —3u" —3u® +u
ul® 4+ 8ul” + 26ul® + 40u'3 + 19u!t — 24u° — 30u” + 9u3
ag = \ —y!9 — 77 — 200t° — 270! — 11wt + 13w + 14u” — 3ud + u
—u®® —10uB + -+ 10U —u
ag = W 1luP 4+ —uP 4w
(ii) Obstruction class = —1

(iii) Cusp Shapes

= 4u?® — 4?7 + 44025 — 40u?® + 208u? — 172023 + 528u?? — 396u3! + 692u?0 —
468u® + 184u'® — 112u'” — 75616 4+ 404u'® — 9520 + 460u'® — 96u'? + 92u!! +
512u10 — 116w° + 224u® — 80u” — 9218 — 40u® — 40u* — 44> + 12u2 + 8u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,Cg u? —u® 4+ 4u—1

3, Cs u29_u28+_.'+u_1
C4,Cs5,C10 u29+u28+"'_7u_1

7 u? —3u 4. w1

Y u® +13u® + -+ 3u+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
claCQacﬁ y29+23y28++3y_1
€3,C8 y? =13y 3y — 1
C4,C5, C10 y29 _29y28++19y_ 1
cr y29_y28++31y_1
Co y29+7y28+_17y_1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

uw=0.104948 + 1.0634301

—1.50634 + 2.088251

4.67041 —4.0192171

uw= 0.104948 — 1.0634301

—1.50634 — 2.088251

4.67041 + 4.019211

u= 0.867318 + 0.0557301

6.06905 + 6.862311

7.66791 — 5.156541

u= 0.867318 — 0.0557301

6.06905 — 6.862311

7.66791 + 5.15654.1

u = —0.865828 + 0.0304031

7.84107 — 1.558571

10.33093 4+ 0.380241

u = —0.865828 — 0.0304031

7.84107 + 1.558571

10.33093 — 0.380241

u = 0.802035

2.34920

4.54160

uw=0.144820 + 1.2756801

—3.23997 + 2.391041

2.27394 — 3.370221

w=0.144820 — 1.2756801

—3.23997 — 2.391041

2.27394 + 3.370221

uw= 0.413631 + 1.2220601

2.47326 — 2.273501

4.56508 + 1.802351

u= 0.413631 — 1.2220601

2.47326 + 2.273501

4.56508 — 1.802351

u = —0.408190 + 1.2474701

4.07665 — 3.005991

6.90218 + 3.082227

u = —0.408190 — 1.2474701

4.07665 + 3.005991

6.90218 — 3.082221

u= 0.355449 + 1.2784101

1.63034 + 4.165301

0.22706 — 3.161421

uw=0.355449 — 1.2784101

—1.63034 — 4.165301

0.22706 + 3.161421

u = —0.076147 + 1.3255501

6.70958 4- 0.478431

—4.05109 — 0.533731

u = —0.076147 — 1.3255501

—6.70958 — 0.478431

4.05109 + 0.533731

u = —0.164926 + 1.3310907

—5.61619 — 6.653511

—1.43843 + 7.126931

u = —0.164926 — 1.3310901

—5.61619 + 6.653511

—1.43843 — 7.126931

u = —0.398344 + 1.2970601

3.70379 — 6.091231

6.35632 + 3.374201

u = —0.398344 — 1.2970601

3.70379 + 6.091231

6.35632 — 3.374201

u= 0.395776 + 1.3145601

1.78699 + 11.393207

3.51396 — 7.744561

u= 0.395776 — 1.3145601

1.78699 — 11.393201

3.51396 + 7.744561

u = —0.504557 + 0.2912107

—0.58407 — 4.332321

4.72516 + 7.808621

u = —0.504557 — 0.2912107

—0.58407 + 4.332321

4.72516 — 7.808621

u = —0.232980 + 0.4584671 —1.44954 + 1.500611 0.980964 — 0.4514511

u = —0.232980 — 0.4584671 —1.44954 — 1.500611 0.980964 + 0.4514511

uw= 0.468013 + 0.1235231 1.012830 + 0.278366.1 10.00481 — 1.833111

uw= 0.468013 — 0.1235231 1.012830 — 0.278366.1 10.00481 + 1.833111




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C2,Cq U29*U28+"’+U*1

c3,C8 u? — w4+ 4u—1
C4,C5,C10 W B —Tu—1

€7 u? —3u® 4+ —u+1

9 u? + 130 + -+ 3u+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C2,Cq y29+23y28++3y—1

€3,C8 v =13y 4+ 43y —1
€4, 5, C10 y?? —29y* + -+ 19y — 1

€7 v -y 4431y -1

Cg y29+7y28+_17y_1




